
Question: 1 
   
Discuss the conditions required to ensure the Referential Integrity? There are 2 correct answers to 
this question 
 
A. There are three joins in the table 
B. Referential integrity holds true in both the directions 
C. There is at least one join in the other table 
D. There are two joins in the table 
 

Answer: B, C     
 

Question: 2 
   
What are the components of The Enterprise Procurement Model Demo Scenario? There are 3 correct 
answers to this question. 
 
A. Sales 
B. Procurement 
C. Stock 
D. Services 
E. Product 
 

Answer: A, B, C     
 

Question: 3 
   
How to create a core data services view? (3 ans) 
 
A. Use SQL capabilities for Netweaver 
B. Use data services tools for updates 
C. Use DDL statement DEFINE VIEW and SQL like syntax to define the view 
D. Use the ABAP Development Tools for SAP Netweaver 
E. Use additional annotations - marked with the @sign 
 

Answer: C, D, E     
 

Question: 4 
   
What is the main purpose of SAML for SAP HANA Studio? Choose the correct answer 



 
A. The SAP HANA database supports login of Owners only 
B. To support scenarios where clients are not directly connected to the SAP HANA Database 
C. The assertion is issued by a user after the client was successfully authenticated 
D. SAML may be selected as an Owner's authentication method when creating users in the SAP 
HANA Studio 
 

Answer: B     
 

Question: 5 
   
The SAP HANA database is a hybrid in-memory database that combines Few technologies within. 
What are these technologies? 
There are 3 correct answers to this question 
 
A. Row-based database technology 
B. Time-based database technology 
C. Column-based database technology 
D. Object-based database technology 
E. Value-based database technology 
 

Answer: A, D, E     
 

Question: 6 
   
What are the two layers of ABAP system interacts with its database? There are 2 correct answers to 
this question. 
 
A. The Data Storage interface 
B. The Database specific library 
C. The Database independent interface 
D. The Client database interface 
 

Answer: B, C     
 

Question: 7 
   
What are the supported joins in CDS view? There are 2 correct answers to this question. 
 
A. Injection 
B. Upper join 
C. Left outer join 



D. Operators join 
 

Answer: A, C     
 

Question: 8 
   
What are the two main factors of SAP HANA Innovations and Challenges? There are 2 correct 
answers to this question. 
 
A. HW technology and innovations 
B. DBMS technology and innovations 
C. SAP BW innovations 
D. SAP SW technology and innovations 
 

Answer: A, D     
 

Question: 9 
   
You are implementing an ABAP Managed Database Procedures (AMDP) for SAP HAN 
 
A. What do you have to do in the corresponding ABAP class? Please choose the correct answer. 
A. Declare the ABAP class as a sub-class of CL_AMDP_RUNTIME_HDB. 
B. Implement the interface IF_AMDP_MARKER_HDB. 
C. Set the visibility of the corresponding class method in the declaration section to PUBLIC. 
D. Implement the ABAP AMDPJHDB Event Handler. 
 

Answer: B     
 

Question: 10 
   
Which of the following tool is introduced as a holistic quality assurance tool? Choose the correct 
answer 
 
A. BW system 
B. DBA Cockpit 
C. ABAP Test Cockpit (ATC) 
D. DBMS Cockpit 
 

Answer: C     
 
 


